Worksheet Maths 4™ ESO

INEQUALITIES 2

1. Solve the following systems of inequalities:

4&+4)—2£O}
a)

2(x+2)-4>2

3x-2<4
2xX+6>x-1

1-(2x-1)<0
2 3(x+1)—9£0}

2. Solve the following systems of inequalities:

x+y£1}
a
X-y<3

— > -2
b) X+y }
y<4

)x+y29
c -2x+3y<12
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SOLUTION
1.
4(x+1)—2£0} 4x+4—2£0} 4x < -2 XS_T X<~
2
2x+426 2x+42>6 2x 22 x>1 x>1
XS% x>1
It does not have any solution o ,
-1
10 1
b) x>-7
3x-2<4 3x<6] x<2 © >
X <2
2x+6>x-1| x>-7[ x>-7 <€ °
—7 0 2
Solution (both inequalities): © °
-7.2) xX<2y x>-7
c)
1-(2x-1)<0] 1-2x+1<0] -2x<-2] x>1
3(x+1)-9<0[ 3x+3-9<0 3x <6 xe2—X=2
o x> 1 5
Solution: (1,2] 0 1 2
O
x>1y x<2
2.
x+y<l1
a) Y Y
Xx—-y<3 N 4
1=0 (y=-x+1) N
X+y-1= =- 2
Graphically: Y Y two straight-lines -
x-y-3=0 (y=x-3) : 7y
Trying the point (0, 0) we see both inequalities are —4 _2_2 _
satisfied in this point. So, the solution is the pink zone
(including the limiting rays) /1
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-X+y=>-2

by Y } y
y<4 -
_ -x+y+2=0 (y=x-2) -

Graphically: 4

Trying the point (0, O) we can see: .

D £

0+0>-2 L
0<4

So, the solution is the pink zone (including the limiting rays)

X+y=9 Crashically: y=9-x
D _ox+3y<1p| Crophicaly y=12-|3—2x

Trying the point (0, 0) we can see:

0+02=9no/
{ 0 so, the solution is the green zone (including the limiting rays)

-2-0+3-0<12




